NAME _________________________________ DATE ___________ PERIOD ______
BIRD REVIEW

Birds use their beaks to rub their feathers with oil secreted by the ______________.

A. follicles

B. preen gland

C. crop

D. proventriculus

In a bird the breakdown of food begins in the ________________________.

A. small intestine

B. esophagus

C. proventriculus

D. crop

Baby birds that are active and can walk, swim, and feed themselves as soon as they hatch are called  _____________________ young.

A. precocial 

B. altricial

C. ectothermic

D. ornithologic

Modifications for flight in the skeleton of a bird include  _______________________.

A. thin, hollow bones 

B. fusing the last vertebrae (pygostyle)

C. fusing bones in the pelvic and pectoral girdles  

D. All of the above

Feathers are composed mainly of  ___________________________.

A. albumen

B. chitin

C. keratin

D. cellulose

Which of the following statements about a bird’s skeleton is NOT TRUE?

A. The skeleton is very flexible because NONE of the bones are fused.

B. Many of the bones are thin-walled and hollow.

C. Air sacs from the respiratory system penetrate into some of the bones.

D. Bird bones are less dense than the bones of non-flying animals.

___________________________ is the type of reproduction seen in birds.

A. viviparity

B. oviparity

C. ovoviviparity

D. both oviparity and viviparity

The part of the bird’s digestive system that contains small rocks for grinding food is the ___________.

A. stomach

B. crop

C. gizzard

D. proventriculus

Bird droppings are a mixture of feces and _______________________..

A. ammonia

B. uric acid

C. urea

D. None of the above. Birds don’t make nitrogen waste.

Which of the following is NOT a function of the respiratory air sacs in birds?


A.  exchange gases

B. store air

C. reduce the bird’s density

D. help provide oxygenated air during both inhalation and exhalation

The pygostyle is part of a bird’s __________________ .

A. pectoral girdle

B. beak

C. flight muscles

D. spine

When a bird INHALES, air enters ______________________

A. both the lungs and posterior air sacs

B. only the anterior air sacs

C. only the lungs

D. only the posterior air sacs

When a bird EXHALES, air moves from the_________________________


A. posterior air sacs into the lungs


B. lungs into the anterior air sacs


C. anterior air sacs to exit the body


D. ALL OF THE ABOVE

The syrinx in a bird is involved with _______________________.

A. digesting food

B. singing

C. finding direction

D. breathing

The microscopic hooks that interlock to give a feather its study, flexible shape are called ____________

A. vanes

B. follicles

C. barbs

D. barbules

Which of the following is NOT a function of feathers?


A.  Provide lift during flight


B.  Help with cutaneous respiration 


C.  Display coloration to attract a mate or hide from predators


D.  Conserve body heat

Birds find their direction when they migrate by using ______________________________________.


A. the position of the sun and stars


B. topographical landmarks like rivers and mountains


C. changes in the magnetic field and low frequency sounds


D. changes in air pressure


E. ALL of these

*
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If the statement is TRUE , circle T.    If the statement is FALSE, circle F and MAKE CORRECTIONS TO MAKE IT TRUE..

T
F
Birds periodically molt or shed their feathers.

T
F
Birds are ectothermic.

T
F
Like mammals, bird red blood cells have NO nuclei.

T
F
Birds see in “black and white”.

T
F
Birds have external fertilization and are viviparous.

T
F
Archaeopteryx, the first bird, shared several characteristics with dinosaurs



 including teeth, claws on its wings, and a long tail.

T
F
Birds survived the asteroid impact that is thought to have wiped out



the dinosaurs. 

T
F
Birds have oxygenated air in their lungs ONLY when they INHALE.

*
*
*
*
*
*
*
*
*
*
*
*
*
*

HOW MANY?
Birds have ______ chambers in their heart and _______ loops in  their circulatory system.

*
*
*
*
*
*
*
*
*
*
*
*
*
*

LIST SOME CHARACTERISTICS DISTINCTIVE TO BIRDS.

___________________________________
    
__________________________________

___________________________________      
__________________________________

___________________________________      
__________________________________

___________________________________

	COMPARE BABIES
	PRECOCIAL
	ALTRICIAL



	Abilities when they hatch?
	
	


*
*
*
*
*
*
*
*
*
*
*
*
*
*

Why might it be an advantage for birds that lay eggs on the ground (like ducks and pheasants) to have PRECOCIAL rather than ALTRICIAL babies? 

HINT: Look at your answer to the question above)

Explain what the location of a bird’s eyes have to do with the kind of vision it has.

(Ex: pigeons have eyes on sides of head; owls have eyes on the front of their faces)

     Eyes on front of face give 
__________________________________________vision

     Eyes on sides of head give 
__________________________________________vision

*
*
*
*
*
*
*
*
*
*
*
*
*
*

KINGDOM:  
________________________________

PHYLUM:  
________________________________

SUBPHYLUM:  ________________________________

CLASS: 
________________________________


ORDER: 
________________________________
COMPLETE THE CIRCULATION OF BLOOD IN BIRDS.
	CIRCULATION IN BIRDS

	# LOOPS ?
	

	# of heart chambers?
	

	Has conus arteriosus & sinus venosus? 
YES      NO

	

	Number of Atria?
Number of Ventricles?
	_______ atria

_______ ventricles

	Septum

Partial?    Complete?
	

	Blood returning from lungs enters?
	

	Blood returning from body enters?
	


Which part of the excretory system seen in fish, frogs, and turtles (and will see in mammals) is missing in birds to make them weigh less?
__________________________________

Tell 2 ways the respiratory system in birds is different than in other animals with lungs?

     1. Birds have ______________________ in addition to lungs.

     2. Birds move oxygenated air into their lungs both when they __________________ &

 when they  __________________

The PYGOSTYLE, STERNUM, and FURCULA belong to the ______________________ system.
Birds excrete their nitrogen waste as:   AMMONIA   UREA   URIC ACID

Tell 3 ways the BRAIN in a bird is modified to help with NAVIGATION:

(HINT: Look in the section for NERVOUS SYSTEM)

_________________________________________________________


_________________________________________________________


_________________________________________________________









Which part does it?
Stores and moistens food waiting to be digested 
________________________________

First chamber of stomach where acid &

digestive enzymes begin to break down food   
________________________________
2nd part of the stomach that contains small

rocks to grind and mash the food

     
________________________________
Small gland near tail that makes oil used to keep 
________________________________
the bird’s feathers in good condition     

Small pouches which contain micro-organisms 
that help to digest plant material


________________________________


Multipurpose exit cavity that receives digestive waste,

urine, and sperm/eggs before leaving the body
________________________________
  
Voice box for singing, located near the junction of

the trachea and bronchi



________________________________

  
Fleshy patch of skin above the beak in a bird
________________________________
Dividing wall that separates the ventricle into two
  

Tubes that carry sperm from testes to cloaca
________________________________


Tubes that carry urine from kidneys to cloaca
________________________________



Tubes that carry eggs from ovary to cloaca and

 add albumen and shell to egg as it passes through
________________________________
Gland that regulates heart rate and metabolism 
________________________________
Largest vein returning to heart


________________________________





Largest artery leaving heart 



________________________________


Featherless patch of skin on the abdomen that

helps to keep eggs warm



________________________________



Fingerlike extensions INSIDE the small intestine

 that increase surface area to absorb
 more nutrients 




________________________________
Small sacs inside the lung that increase surface area


for more gas exchange


________________________________


Large extensions off the lungs that store air 



but don’t exchange gases


________________________________


Removes uric acid from blood and dilutes it


to make urine




________________________________


 “Eardrum”





________________________________



3rd eyelid that acts as goggles


_______________________________



Osmoregulation




_______________________________


Make bile, store vitamins & glycogen, process toxins _____________________________   

Make trypsin, insulin, & glucagon


_______________________________

Birds are/have: 
Ectothermic 



Endothermic

ACOELOMATES          PSEUDOCOELOMATES          EUCOELOMATES

HERMAPHRODITES

       SEPARATE SEXES

EXTERNAL FERTILIZATION

INTERNAL FERTILIZATION

OVIPARITY              OVOVIVIPARITY

     VIVIPARITY
DRAW DIRECTION ARROWS showing the flow of blood in a bird’s circulatory system.

USE RED (for HIGH OXYGEN BLOOD)  and BLUE (for LOW OXYGEN BLOOD) 

RIGHT


 LEFT 

    RIGHT 


LEFT

VENTRICLE

ATRIUM
    ATRIUM
              VENTRICLE

LUNGS




BODY
*
*
*
*
*
*
*
*
*
*
*
*
*
*

ADAPTATIONS FOR FLIGHT --- SKELETON OF BIRDS
Birds are highly adapted for  F_______________.  To fly, the bird’s skeleton must be _L_______________.  Flight requires great amounts of _E________________ so that the bird’s digestive, circulatory, and respiratory systems are adapted to deliver large amounts of _F______________ and _O______________ to the body tissues.  The bones of a bird are extremely light because they are _H________________.  Their _S_________________ is provided by internal cross struts.  The _K_____________ is much larger than most bones in a bird’s skeleton.  It provides a point of attachment for powerful _M________________ used for flight. A bird’s neck has a large number of _V_________________ which enable the bird to turn its head _________________ degrees.
LABEL THE SKELETON:
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